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e WEIE PR
g PR ¢ 2000 ¢ 1500 | ¢ 2000
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18N/mm2 0.90"2 X x/4 X {(0.17+0.19)/2+0.30/2} = 0.210m3 300
A7 (EAR) 0.210m3 0.3072X 1 /4X1/2X0.45m = 0. 194 ms/si
B4#47° (A1) 0.210m3 0.30°2X 7 /4X1/2%X0.90m = 0. 178 ma/tiipr
CH7° (FEA-2) 0.210m3 0.30°2X 7 /4X1/2% (0.90+0. 30) m = 0. 168 m3/si
D7 (FEA-3) 0.210m3 0.3072X 7 /4X1/2% (0.90+0.60) m = 0. 157 ma/sEn
EAX)LEBT
BlE 1:2 0.90°2 X x/4 = 0.636m2
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CH7° (FEA-2) 0.636m2 0.30X1.20m + 0.30X & X1/2X1.20m 0. 841 me/s
D7 (FEA-3) 0.636m2 0.30X1.50m + 0.30X z© X1/2X1.50m 0. 893 me/fi
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